GOVERNMENT OF INDIA

MINISTRY OF JAL SHAKTI

DEPARTMENT OF WATER RESOURCES, RIVER DEVELOPMENT & GANGA REJUVENATION

RAJYA SABHA

UNSTARRED QUESTION NO. 2027

ANSWERED ON 07.08.2023

DECLINE IN WATER TABLE

2027#. SHRI RAKESH SINHA

Will the Minister of JAL SHAKTI be pleased to state:

(a) the number of districts in the country having witnessed a decline in water table during the last five years, the name-wise details thereof;

(b) the number of districts in the country having witnessed an increase in water table during the last five years, the name-wise details thereof; and

(c) the steps taken to preserve the water table in the country?

ANSWER

THE MINISTER OF STATE FOR JAL SHAKTI

(SHRI BISHWESWAR TUDU)

(a)& (b) Central Ground Water Board (CGWB) is periodically monitoring the ground water levels throughout the country on a regional scale, through a network of monitoring wells. In order to assess the ground water level fluctuation in last five years, the water level data collected by CGWB during November 2022 has been compared with the mean of November, 2017-2021 groundwater level data. Analysis of water level data indicates decline in water level in more than or equal to two-third of total monitored wells in 119 districts in 20 States/UTs. Details are given in **Annexure I**.

Further, comparison of depth to water level fluctuation data of November 2022 with mean data [November (2017 to 2021)] shows rise in water level in more than or equal to two-third of total monitored wells in 235 districts in 26 States/UTs. Details are given in **Annexure II**.

(c) Water being State subject, the efforts to improve and manage groundwater conditions including preserving the water table fall under States' mandate, however, a number of steps has been taken by Central Government in this regard which can be seen at

https://cdnbbsr.s3waas.gov.in/s3a70dc40477bc2adceef4d2c90f47eb82/uploads/2023/02/2023021742.p df Some of them are listed as under.

i. Government of India is implementing Jal Shakti Abhiyan (JSA) in the country. First JSA was launched in 2019 in water stressed blocks of 256 districts which continued during the years 2021-2022 also (across entire country both rural and urban areas) with the primary aim to effectively harvest the monsoon rainfall through creation of artificial recharge structures, watershed management, recharge and reuse structures, intensive afforestation and awareness

generation etc. JSA for the year 2023 have been launched by Hon'ble President of India 04 March 2023 with the theme "Source Sustainability for Drinking Water".

- Hon'ble Prime Minister has launched Amrit Sarovar Mission on 24th April 2022. The Mission is aimed at developing and rejuvenating 75 water bodies in each district of the country as a part of celebration of Azadi ka Amrit Mahotsav.
- iii. The Central Government is implementing Atal Bhujal Yojana with an outlay of Rs. 6,000 crore, in collaboration with States, in certain water stressed areas of Gujarat, Haryana, Karnataka, Madhya Pradesh, Maharashtra, Rajasthan and Uttar Pradesh. The primary aim of the scheme is demand side management through scientific means involving the local communities at village levels leading to sustainable groundwater management in the targeted areas.
- iv. Central Ground Water Authority (CGWA) has been constituted under section 3(3) of the "Environment (Protection) Act, 1986" for the purpose of regulation and control of ground water by industries, mining projects, infrastructure projects etc in the country. The guideline in this regard with pan-India applicability was notified by the Ministry on 24 September 2020 with subsequent amendment on 29 March 2023. CGWA and States issue No Objection Certificate (NOC) for extraction of groundwater to various industries/project proponents as per their jurisdiction and as per the extant guidelines.
- v. CGWB is implementing National Aquifer Mapping Program (NAQUIM) in the country and an area of 25.15 lakh sq km (the available mappable area) has been covered under the NAQUIM studies. The NAQUIM study report along-with management plans are shared with States/UTs for suitable interventions.
- vi. Master Plan for Artificial Recharge to Groundwater- 2020 has been prepared by the CGWB in collaboration with States/UTs providing a broad outline of the project and expected investments. The Master Plan envisages construction of about 1.42 crore Rain water harvesting and artificial recharge structures in the Country to harness 185 Billion Cubic Metre (BCM) of water. The Master plan has been shared with States/UTs for suitable interventions.

ANNEXURE I

ANNEXURE REFERRED TO IN REPLY TO PART (a) & (b) OF UNSTARRED QUESTION NO. 2027 TO BE ANSWERED IN RAJYA SABHA ON 07.08.2023 REGARDING "DECLINE IN WATER TABLE"

Depth to Water Level Fluctuation (decline) with Mean [November (2017 to 2021)] and November 2022

					Wells/Perc	entage Sl	nowing Fl	uctuat	tion	Tota	l No. &
S. No.	State/UT Name	District Name	No. of	Fall	1	-	1		1		f Wells
5.110.	State, of Hame		Wells	0 to 2		2 to 4		>4			
				No.	%	No.	%	No.	%	No.	%
1		CHANGLANG	4	2	50.0%	1	25.0%	0	0.0%	3	75.0%
2	Arunachal Pradesh	LOHIT	1	1	100.0%	0	0.0%	0	0.0%	1	100.0%
3		TIRAP	3	3	100.0%	0	0.0%	0	0.0%	3	100.0%
4		DIBRUGARH	4	4	100.0%	0	0.0%	0	0.0%	4	100.0%
5		HAILAKANDI	2	2	100.0%	0	0.0%	0	0.0%	2	100.0%
6		KARIMGANJ	2	2	100.0%	0	0.0%	0	0.0%	2	100.0%
7	Assam	KOKRAJHAR	6	4	66.7%	0	0.0%	0	0.0%	4	66.7%
8		LAKHIMPUR	11	10	90.9%	0	0.0%	0	0.0%	10	90.9%
9		MARIGAON	5	5	100.0%	0	0.0%	0	0.0%	5	100.0%
10		SONITPUR	12	10	83.3%	1	8.3%	0	0.0%	11	91.7%
11		BANKA	14	10	71.4%	1	7.1%	0	0.0%	11	78.6%
12		BEGUSARAI	25	20	80.0%	2	8.0%	0	0.0%	22	88.0%
13	-	BHAGALPUR	15	9	60.0%	1	6.7%	0	0.0%	10	66.7%
14	-	BHOJPUR	33	19	57.6%	3	9.1%	0	0.0%	22	66.7%
15	-	GAYA	16	12	75.0%	1	6.3%	0	0.0%	13	81.3%
16	-	KAIMUR	7	2	28.6%	1	14.3%	2	28.6%	5	71.4%
17	-	KATIHAR	15	10	66.7%	0	0.0%	0	0.0%	10	66.7%
18	Bihar	KHAGARIA	14	9	64.3%	1	7.1%	0	0.0%	10	71.4%
19	-	MADHEPURA	17	10	58.8%	5	29.4%	0	0.0%	15	88.2%
20	-	MUNGER	9	7	77.8%	1	11.1%	0	0.0%	8	88.9%
21	-	NAWADA	12	6	50.0%	2	16.7%	0	0.0%	8	66.7%
22	-	SAHARSA	17	16	94.1%	0	0.0%	1	5.9%	17	100.0%
23		SEIKHPURA	8	2	25.0%	5	62.5%	1	12.5%	8	100.0%
24	-	SHEOHAR	4	3	75.0%	0	0.0%	0	0.0%	3	75.0%
25		SUPAU.L	23	16	69.6%	0	0.0%	0	0.0%	16	69.6%
26		NORTH GOA	33	26	78.8%	3	9.1%	0	0.0%	29	87.9%
27	Goa	SOUTH GOA	30	20	66.7%	2	6.7%	1	3.3%	23	76.7%
28	Dadra and Nagar Haveli and Daman and Diu	DIU	3	2	66.7%	0	0.0%	0	0.0%	2	66.7%
29	Cuinent	NAVSARI	19	13	68.4%	0	0.0%	0	0.0%	13	68.4%
30	- Gujarat	DANG	24	18	75.0%	0	0.0%	0	0.0%	18	75.0%

				No. of	Wells/Perc	entage Sl	howing F	luctua	tion		
C M-		Distaired Name	No. of	Fall			<u> </u>				l No. &
S. No.	State/UT Name	District Name	Wells	0 to 2		2 to 4		>4		% OI	Wells
				No.	%	No.	%	No.	%	No.	%
31	7	VALSAD	16	10	62.5%	0	0.0%	1	6.3%	11	68.8%
32	Haryana	KURUKSHETRA	6	4	66.7%	2	33.3%	0	0.0%	6	100.0%
33		HAMIRPUR	1	1	100.0%	0	0.0%	0	0.0%	1	100.0%
34		KANGRA	22	15	68.2%	0	0.0%	0	0.0%	15	68.2%
35	Himachal Pradesh	KULLU	1	1	100.0%	0	0.0%	0	0.0%	1	100.0%
36		SIRMAUR	13	8	61.5%	0	0.0%	2	15.4%	10	76.9%
37		UNA	31	19	61.3%	3	9.7%	1	3.2%	23	74.2%
38		DEOGHAR	5	3	60.0%	1	20.0%	0	0.0%	4	80.0%
39		DHANBAD	11	7	63.6%	1	9.1%	0	0.0%	8	72.7%
40		DUMKA	14	13	92.9%	1	7.1%	0	0.0%	14	100.0%
41	Jharkhand	GARHWA	5	3	60.0%	1	20.0%	0	0.0%	4	80.0%
42	Jharkhand	GODDA	9	5	55.6%	3	33.3%	0	0.0%	8	88.9%
43		PAKAUR	8	4	50.0%	2	25.0%	1	12.5%	7	87.5%
44		PALAMU	14	5	35.7%	6	42.9%	1	7.1%	12	85.7%
45		SAHIBGANJ	16	9	56.3%	3	18.8%	0	0.0%	12	75.0%
46		DAKSHIN KANNADA	89	64	71.9%	3	3.4%	2	2.2%	69	77.5%
47		SHIMOGA	79	51	64.6%	8	10.1%	1	1.3%	60	75.9%
48	– Karnataka	UDUPI	60	40	66.7%	3	5.0%	6	10.0%	49	81.7%
49		UTTARA KANNADA	79	58	73.4%	2	2.5%	1	1.3%	61	77.2%
50		ALAPPUZHA	79	53	67.1%	3	3.8%	0	0.0%	56	70.9%
51	7	KANNUR	98	77	78.6%	4	4.1%	3	3.1%	84	85.7%
52	– Kerala	KASARAGOD	119	90	75.6%	10	8.4%	2	1.7%	102	85.7%
53	Kerala	MALAPPURAM	116	87	75.0%	8	6.9%	2	1.7%	97	83.6%
54		PATHANAMTHITTA	89	59	66.3%	1	1.1%	1	1.1%	61	68.5%
55		THRISSUR	110	77	70.0%	2	1.8%	0	0.0%	79	71.8%
56		Gadchiroli	37	24	64.9%	5	13.5%	0	0.0%	29	78.4%
57	Maharashtra	MUMBAI CITY	6	6	100.0%	0	0.0%	0	0.0%	6	100.0%
58	Manarashtra	MUMBAI SUBURBAN	16	11	68.8%	0	0.0%	0	0.0%	11	68.8%
59		Raigad	25	21	84.0%	0	0.0%	0	0.0%	21	84.0%
60	Nagaland	DIMAPUR	3	1	33.3%	1	33.3%	0	0.0%	2	66.7%
61		GAJAPATI	34	24	70.6%	0	0.0%	1	2.9%	25	73.5%
62		JAJAPUR	45	29	64.4%	3	6.7%	0	0.0%	32	71.1%
63	– Odisha	KALAHANDI	26	20	76.9%	1	3.8%	0	0.0%	21	80.8%
64	Juisila	NABARANGAPUR	19	16	84.2%	1	5.3%	0	0.0%	17	89.5%
65		NAYAGARH	38	29	76.3%	0	0.0%	0	0.0%	29	76.3%
66		RAYAGADA	19	16	84.2%	0	0.0%	0	0.0%	16	84.2%
67	– Punjab	AMRITSAR	6	5	83.3%	1	16.7%	0	0.0%	6	100.0%
68	ruijau	BARNALA	3	0	0.0%	1	33.3%	2	66.7%	3	100.0%

		State/UT Name District Name No. 01 Fall									No. &
S. No.	State/UT Name	District Nome	No. of	Fall							Wells
5.110.	State/01 Name	District Ivalle	Wells	0 to 2		2 to 4		>4		/0 01	-
				No.	%	No.	%	No.	%	No.	%
69		BATHINDA	21	11	52.4%	5	23.8%	2	9.5%	18	85.7%
70		FARIDKOT	17	11	64.7%	1	5.9%	1	5.9%	13	76.5%
71		FATEHGARH SAHIB	11	8	72.7%	0	0.0%	1	9.1%	9	81.8%
72		HOSHIARPUR	25	15	60.0%	2	8.0%	1	4.0%	18	72.0%
73		JALANDHAR	10	6	60.0%	2	20.0%	1	10.0%	9	90.0%
74		KAPURTHALA	7	5	71.4%	0	0.0%	0	0.0%	5	71.4%
75		MOGA	4	2	50.0%	0	0.0%	2	50.0%	4	100.0%
76		PATHANKOT	12	7	58.3%	1	8.3%	2	16.7%	10	83.3%
77		PATIALA	16	4	25.0%	7	43.8%	1	6.3%	12	75.0%
78		SANGRUR	10	3	30.0%	4	40.0%	3	30.0%	10	100.0%
79		SBS NAGAR	3	2	66.7%	0	0.0%	0	0.0%	2	66.7%
80		TARAN TARAN	7	6	85.7%	0	0.0%	0	0.0%	6	85.7%
81		HANUMANGARH	33	14	42.4%	8	24.2%	0	0.0%	22	66.7%
82		JALORE	19	5	26.3%	3	15.8%	6	31.6%	14	73.7%
83	- Rajasthan	PALI	23	9	39.1%	4	17.4%	4	17.4%	17	73.9%
84		SIKAR	31	12	38.7%	6	19.4%	5	16.1%	23	74.2%
85	T	NAGAPATTINAM	10	6	60.0%	1	10.0%	0	0.0%	7	70.0%
86	Tamil Nadu	TIRUVARUR	6	4	66.7%	0	0.0%	0	0.0%	4	66.7%
87		NORTH TRIPURA	7	4	57.1%	1	14.3%	0	0.0%	5	71.4%
88	Tripura	SOUTH TRIPURA	5	3	60.0%	1	20.0%	0	0.0%	4	80.0%
89		WEST TRIPURA	4	2	50.0%	1	25.0%	0	0.0%	3	75.0%
90		BAREILLY	9	5	55.6%	1	11.1%	0	0.0%	6	66.7%
91	7	BUDAUN	3	1	33.3%	1	33.3%	1	33.3%	3	100.0%
92		BULANDSHAHR	2	1	50.0%	1	50.0%	0	0.0%	2	100.0%
93		CHANDAULI	9	6	66.7%	0	0.0%	1	11.1%	7	77.8%
94		FARRUKHABAD	2	2	100.0%	0	0.0%	0	0.0%	2	100.0%
95		FIROZABAD	3	2	66.7%	1	33.3%	0	0.0%	3	100.0%
96		JYOTIBA PHULE NAGAR	5	4	80.0%	1	20.0%	0	0.0%	5	100.0%
97	Uttar Pradesh	KANNAUJ	2	1	50.0%	0	0.0%	1	50.0%	2	100.0%
98		MAHRAJGANJ	5	5	100.0%	0	0.0%	0	0.0%	5	100.0%
99		MAINPURI	3	1	33.3%	1	33.3%	0	0.0%	2	66.7%
100	7	MAU	4	2	50.0%	0	0.0%	1	25.0%	3	75.0%
101		MIRZAPUR	9	6	66.7%	1	11.1%	0	0.0%	7	77.8%
102		MORADABAD	7	3	42.9%	2	28.6%	0	0.0%	5	71.4%
103		SHAHJAHANPUR	1	1	100.0%	0	0.0%	0	0.0%	1	100.0%
104		SONBHADRA	16	10	62.5%	1	6.3%	0	0.0%	11	68.8%
105	West Dansel	BANKURA	77	53	68.8%	7	9.1%	2	2.6%	62	80.5%
106	West Bengal	BARDDHAMAN	94	44	46.8%	13	13.8%	9	9.6%	66	70.2%

			N		Wells/Perc	entage Sl	nowing F	luctua	tion	Tota	l No. &
S. No.	State/UT Name	District Name	No. of Wells	Fall 0 to 2		2 to 4		>4			Wells
				No.	%	No.	%	No.	%	No.	%
107	1	BIRBHUM	80	41	51.3%	18	22.5%	12	15.0%	71	88.8%
108	7	EAST MEDINIPUR	14	5	35.7%	5	35.7%	2	14.3%	12	85.7%
109	7	HAORA	22	12	54.5%	1	4.5%	3	13.6%	16	72.7%
110		HUGLI	33	11	33.3%	7	21.2%	8	24.2%	26	78.8%
111		MALDAH	32	19	59.4%	6	18.8%	1	3.1%	26	81.3%
112		MURSHIDABAD	53	23	43.4%	3	5.7%	14	26.4%	40	75.5%
113		NADIA	56	31	55.4%	15	26.8%	3	5.4%	49	87.5%
114		NORTH 24 PARGANAS	43	21	48.8%	9	20.9%	3	7.0%	33	76.7%
115		NORTH DINAJPUR	12	9	75.0%	0	0.0%	0	0.0%	9	75.0%
116		PURULIYA	58	38	65.5%	6	10.3%	1	1.7%	45	77.6%
117]	SOUTH DINAJPUR	20	12	60.0%	5	25.0%	3	15.0%	20	100.0%
118]	SOUTH 24 PARGANAS	23	6	26.1%	5	21.7%	8	34.8%	19	82.6%
119		WEST MEDINIPUR	64	18	28.1%	14	21.9%	12	18.8%	44	68.8%

Total-119 districts and 20 States/UTs

ANNEXURE REFERRED TO IN REPLY TO PART (a) & (b) OF UNSTARRED QUESTION NO. 2027 TO BE ANSWERED IN RAJYA SABHA ON 07.08.2023 REGARDING "DECLINE IN WATER TABLE"

				No.	ctuation	Tota	l No. &				
S.	State/UT Name	District Name	No. of				Rise				f Wells
No.	State 01 Wante	District Ivanic	Wells		0 to 2		2 to 4		>4		
				No.	%	No.	%	No.	%	No.	%
1	Andaman & Nicobar	NORTH_MIDDLE_ANDAMAN	34	30	88.2%	1	2.9%	0	0.0%	31	91.2%
2	Andaman & Meobai	SOUTH ANDAMAN	66	46	69.7%	0	0.0%	1	1.5%	47	71.2%
3		ANANTAPUR	34	13	38.2%	7	20.6%	11	32.4%	31	91.2%
4		CHITTOOR	39	24	61.5%	5	12.8%	5	12.8%	34	87.2%
5		CUDDAPAH	40	12	30.0%	8	20.0%	12	30.0%	32	80.0%
6		GUNTUR	75	40	53.3%	10	13.3%	3	4.0%	53	70.7%
7	Andhra Pradesh	KURNOOL	40	22	55.0%	11	27.5%	1	2.5%	34	85.0%
8		NELLORE	53	26	49.1%	8	15.1%	7	13.2%	41	77.4%
9		PRAKASAM	67	26	38.8%	14	20.9%	17	25.4%	57	85.1%
10		VIZIANAGARAM	42	31	73.8%	2	4.8%	0	0.0%	33	78.6%
11		WEST GODAVARI	45	27	60.0%	5	11.1%	3	6.7%	35	77.8%
12	Arunachal Pradesh	EAST SIANG	1	1	100.0%	0	0.0%	0	0.0%	1	100.0%
13		BONGAIGAON	7	6	85.7%	0	0.0%	0	0.0%	6	85.7%
14		DHUBRI	5	4	80.0%	1	20.0%	0	0.0%	5	100.0%
15		GOLAGHAT	3	1	33.3%	0	0.0%	1	33.3%	2	66.7%
16	Assam	JORHAT	3	2	66.7%	0	0.0%	0	0.0%	2	66.7%
17		NAGAON	16	11	68.8%	0	0.0%	0	0.0%	11	68.8%
18		NALBARI	2	2	100.0%	0	0.0%	0	0.0%	2	100.0%
19		SIBSAGAR	4	3	75.0%	0	0.0%	0	0.0%	3	75.0%
20		ARARIA	8	6	75.0%	0	0.0%	0	0.0%	6	75.0%
21		JEHANABAD	19	13	68.4%	0	0.0%	0	0.0%	13	68.4%
22		KISHANGANJ	8	7	87.5%	0	0.0%	0	0.0%	7	87.5%
23		PASHCHIM CHAMPARAN	13	12	92.3%	0	0.0%	0	0.0%	12	92.3%
24	Bihar	PATNA	30	16	53.3%	3	10.0%	1	3.3%	20	66.7%
25	1	PURNIA	17	12	70.6%	0	0.0%	0	0.0%	12	70.6%
26	1	ROHTAS	14	9	64.3%	1	7.1%	0	0.0%	10	71.4%
27	1	SARAN	27	17	63.0%	3	11.1%	0	0.0%	20	74.1%
28	1	SITAMARHI	16	11	68.8%	0	0.0%	0	0.0%	11	68.8%
29	Chhattisgarh	BILASPUR	98	51	52.0%	28	28.6%	8	8.2%	87	88.8%

Depth to Water Level Fluctuation (rise) with Mean [November (2017 to 2021)] and November 2022

30		DURG	111	66	59.5%	8	7.2%	4	3.6%	78	70.3%
31		JANJGIR - CHAMPA	49	32	65.3%	9	18.4%	2	4.1%	43	87.8%
32		JASHPUR	71	42	59.2%	6	8.5%	1	1.4%	49	69.0%
33		KANKER	7	7	100.0%	0	0.0%	0	0.0%	7	100.0%
34		KAWARDHA	14	7	50.0%	2	14.3%	1	7.1%	10	71.4%
35		KORBA	71	35	49.3%	19	26.8%	1	1.4%	55	77.5%
36		RAIPUR	96	65	67.7%	9	9.4%	0	0.0%	74	77.1%
37		RAJNANDGAON	53	33	62.3%	7	13.2%	1	1.9%	41	77.4%
38		SURGUJA	96	51	53.1%	11	11.5%	3	3.1%	65	67.7%
39		CENTRAL	1	1	100.0%	0	0.0%	0	0.0%	1	100.0%
40		EAST	7	5	71.4%	0	0.0%	0	0.0%	5	71.4%
41		NEW DELHI	8	1	12.5%	6	75.0%	1	12.5%	8	100.0%
42	Delhi	NORTH	4	2	50.0%	0	0.0%	1	25.0%	3	75.0%
43	Denn	NORTH WEST	21	15	71.4%	4	19.0%	0	0.0%	19	90.5%
44		SOUTH	14	3	21.4%	1	7.1%	7	50.0%	11	78.6%
45		SOUTH WEST	17	3	17.6%	4	23.5%	7	41.2%	14	82.4%
46		WEST	7	2	28.6%	2	28.6%	2	28.6%	6	85.7%
47	Dadra and Nagar Haveli and Daman and Diu	DAMAN	4	3	75.0%	0	0.0%	0	0.0%	3	75.0%
48		DOHAD	27	17	63.0%	2	7.4%	0	0.0%	19	70.4%
49		GANDHINAGAR	5	2	40.0%	1	20.0%	1	20.0%	4	80.0%
50		JAMNAGAR	49	28	57.1%	6	12.2%	1	2.0%	35	71.4%
51		КАСНСНН	39	12	30.8%	6	15.4%	9	23.1%	27	69.2%
52	Cuianat	MAHESANA	24	11	45.8%	5	20.8%	1	4.2%	17	70.8%
53	Gujarat	NARMADA	17	11	64.7%	3	17.6%	0	0.0%	14	82.4%
54		PATAN	8	4	50.0%	0	0.0%	3	37.5%	7	87.5%
55		PORBANDAR	31	11	35.5%	4	12.9%	8	25.8%	23	74.2%
56		SABARKANTHA	38	16	42.1%	10	26.3%	4	10.5%	30	78.9%
57		VADODARA	36	18	50.0%	7	19.4%	4	11.1%	29	80.6%
58		AMBALA	10	7	70.0%	0	0.0%	0	0.0%	7	70.0%
59		CHARKHI DADRI	5	4	80.0%	0	0.0%	0	0.0%	4	80.0%
60		FARIDABAD	3	1	33.3%	0	0.0%	1	33.3%	2	66.7%
61		FATEHABAD	7	5	71.4%	1	14.3%	0	0.0%	6	85.7%
62	Haryana	GURGAON	6	3	50.0%	1	16.7%	1	16.7%	5	83.3%
63	11a1 yalla	HISAR	20	13	65.0%	5	25.0%	1	5.0%	19	95.0%
64		JHAJJAR	11	6	54.5%	1	9.1%	1	9.1%	8	72.7%
65		MAHENDRAGARH	1	0	0.0%	1	100.0%	0	0.0%	1	100.0%
66		MEWAT	2	2	100.0%	0	0.0%	0	0.0%	2	100.0%
67		PANCHKULA	17	10	58.8%	2	11.8%	1	5.9%	13	76.5%

68		REWARI	3	1	33.3%	1	33.3%	0	0.0%	2	66.7%
69		ROHTAK	8	4	50.0%	2	25.0%	0	0.0%	6	75.0%
70	-	SONIPAT	24	11	45.8%	5	20.8%	2	8.3%	18	75.0%
71	1 0 17 1 •	BARAMULA	15	9	60.0%	1	6.7%	0	0.0%	10	66.7%
72	Jammu & Kashmir	PULWAMA	2	2	100.0%	0	0.0%	0	0.0%	2	100.0%
73		CHATRA	4	1	25.0%	1	25.0%	1	25.0%	3	75.0%
74		GIRIDIH	6	3	50.0%	1	16.7%	0	0.0%	4	66.7%
75	Jharkhand	HAZARIBAG	11	5	45.5%	1	9.1%	2	18.2%	8	72.7%
76		KODARMA	2	1	50.0%	0	0.0%	1	50.0%	2	100.0%
77		LOHARDAGA	6	4	66.7%	1	16.7%	0	0.0%	5	83.3%
78		BAGALKOT	26	13	50.0%	5	19.2%	1	3.8%	19	73.1%
79		BANGALORE RURAL	40	21	52.5%	7	17.5%	10	25.0%	38	95.0%
80		BANGALORE URBAN	18	9	50.0%	3	16.7%	1	5.6%	13	72.2%
81		BELLARY	28	13	46.4%	7	25.0%	1	3.6%	21	75.0%
82		BIDAR	38	15	39.5%	8	21.1%	3	7.9%	26	68.4%
83		CHAMARAJANAGAR	20	9	45.0%	3	15.0%	4	20.0%	16	80.0%
84		CHITRADURGA	30	10	33.3%	10	33.3%	8	26.7%	28	93.3%
85		DAVANAGERE	51	27	52.9%	5	9.8%	5	9.8%	37	72.5%
86		DHARWAD	22	9	40.9%	6	27.3%	6	27.3%	21	95.5%
87	Karnataka	GADAG	21	6	28.6%	8	38.1%	7	33.3%	21	100.0%
88		GULBARGA	83	41	49.4%	15	18.1%	3	3.6%	59	71.1%
89		HASSAN	72	41	56.9%	11	15.3%	11	15.3%	63	87.5%
90		HAVERI	23	13	56.5%	4	17.4%	4	17.4%	21	91.3%
91		KOLAR	35	22	62.9%	6	17.1%	0	0.0%	28	80.0%
92		KOPPAL	30	15	50.0%	7	23.3%	5	16.7%	27	90.0%
93		MYSORE	53	29	54.7%	7	13.2%	3	5.7%	39	73.6%
94		RAICHUR	48	31	64.6%	9	18.8%	5	10.4%	45	93.8%
95		TUMKUR	46	21	45.7%	9	19.6%	10	21.7%	40	87.0%
96	Kerala	KOTTAYAM	94	65	69.1%	4	4.3%	1	1.1%	70	74.5%
97		AGAR MALWA	13	5	38.5%	2	15.4%	4	30.8%	11	84.6%
98		ANUPPUR	21	17	81.0%	3	14.3%	0	0.0%	20	95.2%
99		BALAGHAT	37	25	67.6%	3	8.1%	0	0.0%	28	75.7%
100		BARWANI	9	4	44.4%	2	22.2%	0	0.0%	6	66.7%
101	Madhua Duadash	BETUL	25	10	40.0%	12	48.0%	1	4.0%	23	92.0%
102	Madhya Pradesh	BHIND	18	7	38.9%	3	16.7%	4	22.2%	14	77.8%
103]	CHHATARPUR	34	20	58.8%	9	26.5%	3	8.8%	32	94.1%
104]	DAMOH	20	15	75.0%	4	20.0%	1	5.0%	20	100.0%
105]	DATIA	12	4	33.3%	1	8.3%	4	33.3%	9	75.0%
106		DEWAS	17	8	47.1%	4	23.5%	4	23.5%	16	94.1%

107		DINDORI	16	13	81.3%	0	0.0%	0	0.0%	13	81.3%
108	1	EAST NIMAR	30	20	66.7%	6	20.0%	0	0.0%	26	86.7%
109		GWALIOR	19	7	36.8%	8	42.1%	3	15.8%	18	94.7%
110	1	HARDA	13	9	69.2%	1	7.7%	1	7.7%	11	84.6%
111	1	HOSHANGABAD	17	5	29.4%	6	35.3%	3	17.6%	14	82.4%
112	1	INDORE	32	8	25.0%	12	37.5%	4	12.5%	24	75.0%
113		JABALPUR	30	16	53.3%	3	10.0%	2	6.7%	21	70.0%
114	1	KATNI	17	10	58.8%	3	17.6%	1	5.9%	14	82.4%
115		MANDLA	30	22	73.3%	4	13.3%	1	3.3%	27	90.0%
116		MANDSAUR	34	21	61.8%	7	20.6%	2	5.9%	30	88.2%
117		MORENA	13	2	15.4%	6	46.2%	2	15.4%	10	76.9%
118		NARSIMHAPUR	17	8	47.1%	4	23.5%	1	5.9%	13	76.5%
119		NEEMUCH	33	19	57.6%	7	21.2%	3	9.1%	29	87.9%
120		PANNA	25	17	68.0%	3	12.0%	3	12.0%	23	92.0%
121		RAISEN	28	17	60.7%	4	14.3%	1	3.6%	22	78.6%
122		RAJGARH	24	10	41.7%	8	33.3%	5	20.8%	23	95.8%
123		RATLAM	39	19	48.7%	11	28.2%	8	20.5%	38	97.4%
124		REWA	28	19	67.9%	7	25.0%	0	0.0%	26	92.9%
125		SAGAR	46	22	47.8%	13	28.3%	7	15.2%	42	91.3%
126		SATNA	43	30	69.8%	7	16.3%	3	7.0%	40	93.0%
127		SEHORE	21	6	28.6%	6	28.6%	3	14.3%	15	71.4%
128		SHAHDOL	26	16	61.5%	6	23.1%	0	0.0%	22	84.6%
129		SHAJAPUR	21	8	38.1%	8	38.1%	2	9.5%	18	85.7%
130		SHEOPUR	19	4	21.1%	7	36.8%	8	42.1%	19	100.0%
131		SHIVPURI	30	13	43.3%	11	36.7%	3	10.0%	27	90.0%
132		SIDHI	29	16	55.2%	6	20.7%	2	6.9%	24	82.8%
133		SINGRAULI	18	11	61.1%	1	5.6%	0	0.0%	12	66.7%
134		TIKAMGARH	23	11	47.8%	7	30.4%	1	4.3%	19	82.6%
135		UJJAIN	41	23	56.1%	8	19.5%	5	12.2%	36	87.8%
136		UMARIA	15	10	66.7%	3	20.0%	1	6.7%	14	93.3%
137		AMRAVATI	87	45	51.7%	14	16.1%	6	6.9%	65	74.7%
138		AURANGABAD	37	13	35.1%	8	21.6%	5	13.5%	26	70.3%
139		BEED	54	25	46.3%	12	22.2%	8	14.8%	45	83.3%
140		BHANDARA	36	14	38.9%	5	13.9%	5	13.9%	24	66.7%
141	Maharashtra	BULDANA	56	23	41.1%	12	21.4%	7	12.5%	42	75.0%
142		DHULE	40	20	50.0%	6	15.0%	3	7.5%	29	72.5%
143	1	HINGOLI	29	12	41.4%	8	27.6%	2	6.9%	22	75.9%
144	1	JALNA	39	18	46.2%	7	17.9%	6	15.4%	31	79.5%
145		KOLHAPUR	38	20	52.6%	5	13.2%	1	2.6%	26	68.4%

146		LATUR	41	18	43.9%	14	34.1%	3	7.3%	35	85.4%
147		NAGPUR	75	28	37.3%	20	26.7%	8	10.7%	56	74.7%
148		OSMANABAD	37	19	51.4%	5	13.5%	4	10.8%	28	75.7%
149		SANGLI	40	28	70.0%	5	12.5%	1	2.5%	34	85.0%
150		SOLAPUR	53	29	54.7%	11	20.8%	2	3.8%	42	79.2%
151		WARDHA	63	37	58.7%	8	12.7%	0	0.0%	45	71.4%
152	1	YAVATMAL	86	61	70.9%	16	18.6%	3	3.5%	80	93.0%
153	Meghalaya	WEST KHASI HILLS	1	1	100.0%	0	0.0%	0	0.0%	1	100.0%
154		ANUGUL	56	39	69.6%	3	5.4%	0	0.0%	42	75.0%
155		CUTTACK	59	43	72.9%	0	0.0%	0	0.0%	43	72.9%
156	Odiaha	JHARSUGUDA	13	9	69.2%	0	0.0%	0	0.0%	9	69.2%
157	Odisha	KANDHAMAL	24	14	58.3%	1	4.2%	1	4.2%	16	66.7%
158		KORAPUT	55	37	67.3%	9	16.4%	0	0.0%	46	83.6%
159		MALKANGIRI	20	18	90.0%	2	10.0%	0	0.0%	20	100.0%
160	Puducherry	PONDICHERRY	4	3	75.0%	0	0.0%	0	0.0%	3	75.0%
161		FIROZPUR	4	3	75.0%	0	0.0%	0	0.0%	3	75.0%
162	Punjab	RUPNAGAR	8	5	62.5%	1	12.5%	0	0.0%	6	75.0%
163		SAS NAGAR	7	5	71.4%	0	0.0%	0	0.0%	5	71.4%
164		BARAN	17	11	64.7%	2	11.8%	2	11.8%	15	88.2%
165		BHARATPUR	24	5	20.8%	7	29.2%	4	16.7%	16	66.7%
166		BHILWARA	36	12	33.3%	6	16.7%	6	16.7%	24	66.7%
167	Rajasthan	DHAULPUR	12	4	33.3%	4	33.3%	2	16.7%	10	83.3%
168		КОТА	16	9	56.3%	1	6.3%	1	6.3%	11	68.8%
169		SAWAI MADHOPUR	16	4	25.0%	4	25.0%	5	31.3%	13	81.3%
170		TONK	17	9	52.9%	4	23.5%	3	17.6%	16	94.1%
171		ARIYALUR	4	3	75.0%	0	0.0%	1	25.0%	4	100.0%
172		CHENNAI	11	6	54.5%	3	27.3%	1	9.1%	10	90.9%
173		COIMBATORE	32	9	28.1%	7	21.9%	10	31.3%	26	81.3%
174	_	CUDDALORE	20	9	45.0%	4	20.0%	4	20.0%	17	85.0%
175		DHARMAPURI	15	3	20.0%	8	53.3%	3	20.0%	14	93.3%
176		DINDIGUL	25	10	40.0%	6	24.0%	8	32.0%	24	96.0%
177	Tamil Nadu	ERODE	52	23	44.2%	16	30.8%	10	19.2%	49	94.2%
178		KANCHEEPURAM	23	11	47.8%	6	26.1%	1	4.3%	18	78.3%
179		KANYAKUMARI	16	9	56.3%	2	12.5%	1	6.3%	12	75.0%
180		KARUR	6	1	16.7%	2	33.3%	2	33.3%	5	83.3%
181		KRISHNAGIRI	15	2	13.3%	4	26.7%	6	40.0%	12	80.0%
182		MADURAI	11	2	18.2%	5	45.5%	3	27.3%	10	90.9%
183		NAMAKKAL	23	8	34.8%	8	34.8%	5	21.7%	21	91.3%
184		NILGIRIS	9	6	66.7%	1	11.1%	0	0.0%	7	77.8%

185		PERAMBALUR	10	2	20.0%	6	60.0%	2	20.0%	10	100.0%
186		SALEM	31	11	35.5%	6	19.4%	11	35.5%	28	90.3%
187		SIVAGANGA	10	3	30.0%	3	30.0%	2	20.0%	8	80.0%
188		THENI	16	3	18.8%	8	50.0%	5	31.3%	16	100.0%
189		THIRUVANNAMALAI	18	10	55.6%	6	33.3%	1	5.6%	17	94.4%
190		TIRUCHIRAPPALLI	23	6	26.1%	8	34.8%	4	17.4%	18	78.3%
191		TIRUPPUR	16	9	56.3%	2	12.5%	3	18.8%	14	87.5%
192		TIRUVALLUR	17	7	41.2%	4	23.5%	1	5.9%	12	70.6%
193		VELLORE	27	10	37.0%	5	18.5%	8	29.6%	23	85.2%
194		VILLUPURAM	29	10	34.5%	15	51.7%	4	13.8%	29	100.0%
195		VIRUDHUNAGAR	15	7	46.7%	2	13.3%	6	40.0%	15	100.0%
196		ADILABAD	49	33	67.3%	5	10.2%	1	2.0%	39	79.6%
197		KARIMNAGAR	53	31	58.5%	9	17.0%	6	11.3%	46	86.8%
198		MAHBUBNAGAR	74	24	32.4%	14	18.9%	26	35.1%	64	86.5%
199	Televene	MEDAK	47	11	23.4%	10	21.3%	26	55.3%	47	100.0%
200	Telangana	NALGONDA	83	45	54.2%	13	15.7%	10	12.0%	68	81.9%
201		NIZAMABAD	36	15	41.7%	8	22.2%	8	22.2%	31	86.1%
202		RANGA REDDY	68	26	38.2%	16	23.5%	18	26.5%	60	88.2%
203		WARANGAL	58	31	53.4%	7	12.1%	14	24.1%	52	89.7%
204		ALIGARH	6	4	66.7%	1	16.7%	0	0.0%	5	83.3%
205		AMBEDKAR NAGAR	7	7	100.0%	0	0.0%	0	0.0%	7	100.0%
206		AURAIYA	6	5	83.3%	0	0.0%	1	16.7%	6	100.0%
207		BAGHPAT	1	0	0.0%	1	100.0%	0	0.0%	1	100.0%
208		BALRAMPUR	15	14	93.3%	0	0.0%	0	0.0%	14	93.3%
209		BASTI	7	5	71.4%	0	0.0%	0	0.0%	5	71.4%
210		CHITRAKOOT	9	2	22.2%	4	44.4%	1	11.1%	7	77.8%
211		ЕТАН	6	4	66.7%	1	16.7%	0	0.0%	5	83.3%
212		ETAWAH	4	1	25.0%	2	50.0%	0	0.0%	3	75.0%
213		FAIZABAD	7	6	85.7%	1	14.3%	0	0.0%	7	100.0%
214	Uttar Pradesh	GHAZIABAD	6	4	66.7%	1	16.7%	0	0.0%	5	83.3%
215		GONDA	5	5	100.0%	0	0.0%	0	0.0%	5	100.0%
216		GORAKHPUR	2	2	100.0%	0	0.0%	0	0.0%	2	100.0%
217		HAMIRPUR	6	3	50.0%	1	16.7%	2	33.3%	6	100.0%
218		HARDOI	14	9	64.3%	1	7.1%	0	0.0%	10	71.4%
219		JALAUN	18	12	66.7%	3	16.7%	2	11.1%	17	94.4%
220		JHANSI	15	9	60.0%	1	6.7%	1	6.7%	11	73.3%
221		KANPUR DEHAT	4	4	100.0%	0	0.0%	0	0.0%	4	100.0%
222		KANPUR NAGAR	7	5	71.4%	1	14.3%	0	0.0%	6	85.7%
223		KHERI	6	6	100.0%	0	0.0%	0	0.0%	6	100.0%

224		LALITPUR	11	6	54.5%	2	18.2%	0	0.0%	8	72.7%
225		МАНОВА	9	6	66.7%	3	33.3%	0	0.0%	9	100.0%
226		MATHURA	11	8	72.7%	1	9.1%	0	0.0%	9	81.8%
227		PILIBHIT	10	9	90.0%	1	10.0%	0	0.0%	10	100.0%
228		PRATAPGARH	23	17	73.9%	2	8.7%	0	0.0%	19	82.6%
229		SAHARANPUR	11	10	90.9%	0	0.0%	0	0.0%	10	90.9%
230		SANT KABIR NAGAR	4	3	75.0%	0	0.0%	0	0.0%	3	75.0%
231		SHRAWASTI	12	12	100.0%	0	0.0%	0	0.0%	12	100.0%
232		SIDDHARTHNAGAR	10	8	80.0%	0	0.0%	0	0.0%	8	80.0%
233		SULTANPUR	31	21	67.7%	2	6.5%	0	0.0%	23	74.2%
234	Uttarakhand	CHAMPAWAT	3	1	33.3%	1	33.3%	0	0.0%	2	66.7%
235	West Bengal	JALPAIGURI	35	23	65.7%	2	5.7%	0	0.0%	25	71.4%

Total: 235 Districts and 26 States/UTs
